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How do we 2's complement a hex number? Please describe two ways
v ’} using “73A16”. (0.5)
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. Implement the expressmn AB + AB using only one gate. (0.5)
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@./ Show two three-bit shift registers connected so that the contents of the X
register will be serially transferred (shifted) into register Y using D flip-
flops for each shift register. If original value of X register is “101”, whatis - —
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} A certain memory has a capacity of 128K x 8. (a) How many data input
and data output lines does it have? (b) How many address lines does it
have? (c? What is its capacity in bytes? (1.5)
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)5. It is desired to combine several 2K x 8 PROMs to produc a total capacity
of 16K x 8. How many PROM chips are needed? How many address lines
—0- - are required? Provide address range for each PROMs in Hex. (1.5)
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